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Open Ended Science Response Practice #5
In 1914, approximately 1500 people died from hypothermia (severe lowering of body core temperature) when the Titanic sank in the northern Atlantic Ocean.  Today, workers in the river industry who fall overboard during winter experience the same dangers as those on the Titanic.

  
a)      Explain why water-related hypothermia has such negative effects on the human body.

b)      Identify two ways in which a person might be able to avoid the immediate negative effects of water-related hypothermia on his or her body.
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